
Recommended Installation by a Professional Plumbing Contractor

To find proper fit and alignment, loosen the wall bend slip nut and check the fit between tailpiece and waste

connection. If necessary, adjust the sink drain tailpiece length to align with waste connection height require-

ments.

Disassemble wall tube from body. Slide slip nut and washer onto tailpiece. Loosely hand-tighten body to slip

nut & tailpiece for later adjustment.

Insert wall tube at least ½” into waste connection and rotate body for proper alignment and fit onto wall tube.

If necessary, trim wall tube length.

Remove wall tube from waste connection and slide on the flange and waste slip nut.

Re-insert wall tube into waste connection.

Insert rubber washer on wall tube & secure to body with slip nut.

Secure waste slip nut to wall tube. 

Slide flange flush to wall.

Secure slip nut to tailpiece.

Turn on water supply.  If leaks appear, check alignment and carefully retighten.

INSTALLATION INSTRUCTIONS

P-TRAP SUPPLY KIT
Model: RH-3016

These instructions are a guideline for a basic installation

•

•
•

••
•

Hand tightening all the slide nuts should provide a good seal to joints

Contents: (1) 1-1/4” Wall tube, (1) Tailpiece trap, (2) 1-1/4” Slip nuts, (1) 1-1/4” Rubber washer, (1) Bell

flange.

Tools required: Hacksaw, measuring tape, thread sealant

••
•

•
Flange

Waste connector

(not included)

Finished wall

Body

Nut

Tailpiece

Trap

Wall Tube

Nut

Washer



Recommended Installation by a Professional Plumbing Contractor

To find proper fit and alignment, loosen the wall bend slip nut and check the fit between tailpiece and waste
connection. If necessary, adjust the sink drain tailpiece length to align with waste connection height require-
ments.

Disassemble wall bend tube from J-bend. Slide slip nut and appropriate washer onto tailpiece. Loosely hand-
tighten J-bend to slip nut & tailpiece for later adjustment.

Insert wall bend tube at least ½” into waste connection and rotate J-bend for proper alignment and fit onto
wall bend tube.  If necessary, trim wall bend tube length.

Remove wall bend tube from waste connection and slide on the bell flange and waste slip nut.
Re-insert wall bend tube into waste connection.
Insert rubber washer on wall bend & secure wall bend slip nut to J-bend.
Secure waste slip nut to wall bend. 
Slide bell flange flush to wall.
Secure slip nut to tailpiece.
Turn on water supply.  If leaks appear, check alignment and carefully retighten.

INSTALLATION INSTRUCTIONS
P-TRAP SUPPLY KIT

Model: RH-3014
These instructions are a guideline for a basic installation

•

•
•

••
•

SINK DRAIN 
TAILPIECE 
(NOT INCLUDED)  

J-BEND  

WALL BEND TUBE 

WALL BEND TUBE 
SLIP NUT  

J-BEND  
SLIP NUT  

WALL BEND TUBE 
RUBBER WASHER  

WASTE 
CONNECTOR  
(NOT INCLUDED)  

WASTE CONNECTOR 
SLIP NUT  
(NOT INCLUDED)  

BELL FLANGE  

J-BEND  
POLY-WASHER (3013 ONLY)  
ADAPTER FOR 1-1/4” Ø 
TAILPIECE TO 1 -1/2” Ø J -BEND 
 
J-BEND  
RUBBER WASHER  
 

-OR-  

Hand tightening all the slide nuts should provide a good seal to joints
Contents: (1) 1-1/4” J-bend, (1) 1-1/4” Wall bend, (2) 1-1/4” Slip nuts, (2) 1-1/4” Rubber washers, (1) Bell
flange.
Tools required: Hacksaw, measuring tape

••
•
•









Recommended Installation by a Professional Plumbing Contractor

Turn off water supply & remove old valve.
Slide flange, 5/8” compression nut and 5/8” compression sleeve onto copper tube.
Position valve outlet to allow for water supply hookup to faucet.
Place protective tape around valve and nut to protect the finish. 
Use a wrench to hold valve in place, use a second wrench to tighten nut to valve.
Remove flare on supply tube inlet by trimming ½”.
Check length and alignment of supply tube between faucet shank and valve outlet and modify

supply tube as necessary.
Slide faucet friction nut & supply ring (not included) up to bull nose end of supply tube. 
Tighten supply nut to faucet shank.
Slide 3/8” compression nut & 3/8” compression ring onto inlet end of supply tube.
Place protective tape on nut & tighten to valve outlet.
Turn on water supply. If leaks appear, check alignment and carefully retighten.

INSTALLATION INSTRUCTIONS
Lavatory Supply Kit

Models: RH-493-1 and 493X-2
(for 5/8” O.D. Copper Tube)

•
••

••
•
•
••

••
•

Important notes for proper seal:
·  Supply tube to have straight alignment into faucet shank & valve outlet.
·  Any bending of supply tube shall be a minimum of 2” from either end.
·  Allow 1/2” excess supply length to slip into valve outlet.
·  After cutting, ensure that tube is perfectly round and free of burrs.

Contents: (2) Valves, (2) Risers, (2) Compression sleeves, (2) Compression nuts, (2) Flanges
Tools required: (2) Adjustable wrenches, tube cutter, tube bender (if needed), protective tape

Faucet Shank

Bull nose

Friction ring
(not included)

Faucet supply 
nut
(not included)

Supply tube

3/8” COMP nut

3/8” COMP
sleeve
Valve outlet

5/8” COMP
sleeve

5/8” COMP nut
Riser

Flange

5/8” Copper supply tube

Valve

Typical installation for contemporary style RH-493-1








	prod1303001_info.pdf
	Contemporary P trap AI.pdf
	Contemporary P-trap Spec Drawing.pdf

	prod1303002_info.pdf
	Traditional P trap AI.pdf
	Traditional P-trap Spec Drawing.pdf

	prod1303004_info.pdf
	Contemporary Water Water Supply Line Spec Draw 2.pdf
	prod1303004_info.pdf
	Contemporary Water Supply Line Lavatory Supply Kit.pdf
	Contemporary Water Lines-Spec Drawing.pdf


	prod1303005_info.pdf
	Traditional Water Water Supply Line Spec Draw 2.pdf
	prod1303005_info.pdf
	Traditional Water Supply Line Lavatory Supply Kit.pdf
	Traditional Water Line Spec Drawing.pdf





